A & R @ =

£ A = Sf 4 &£ 6 A 23 H FRir1085005>

At /P FLALETRIBAIT2ME 2012538

I 5 & 5 $-15

I % 4 ETE/NMUE / RIREREGHETS

I = & P bR ERRALET  LCEH A

FE i & (Brid) 14,738,900 FH  AsEwsdmae Fk) 13,399,000 M

B 1E HI IR ffi 4% (Bi3A) 13,167,000 H  Aszmwsms ®s 11,970,000 H

FASBE(BHRQ) 13,167,000 M #&£% (Hk) 11,970,000 H
*EA A W & wHE &

MR AKRER 11,970,000| (<L) #HArE

A RitEM 11,970, 000| (<L)

HARLAAM 11,970, 000| (<L)

BERERRH 11,970, 000 (<L)

SREEMARH 11,970, 000 (<L)

NI FRBEHRRARH 11,970, 000 (<L)

BESEMAR 11,970, 000| (<L)

BRI TEER 11,970, 000| (<L)

Lo LI 13, 200, 000

BRARHIESH 13, 390, 000

EFEAFLEEICI00DI0(CHHL T S8 ZME L -SRI 25 E#HHA L
DHAHCIRDHMEETH D




